YR
; U'gzﬁldal,

[ B L e

Physics 535/1
July/August 2025
Item 1 k/ | ‘ /(;
a) (1) Because ol‘rcl‘rgpl,_,g, the light rays lroanc,bgmun )'
‘ the pool-'ﬁ'é'téfmglcd m¥a* ffom the {.(/)y’l at the water
\ ) L P T° ek
air interface. T refract® r"‘\ 4 Pl ' C
{M«» \C» ?",\"1 a,b"'" i Lvu“‘ A
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er from above the base i
] appears shallower;

To the observ
hence the poo
e .« .0/ /M lh VQL\"° '¢WL»<.~
i) To minimize reverberati®. The walls ar¢ well covered Wb il
with curtains t0 ensure that they do not reflect sound 4 Ag s L 9 [ - T
from the speakers t0 avoid echo formation. | Mowes ARV Ry \eobr i
The echo€s interface with the original sound hence L
distorting it and making it unclear.
0 L
(iii) The appearances is done to Wﬂﬂféﬂﬁﬁﬁm‘o f E:gfji (qf . s 3¢
llg‘hbyﬁl]gw,—co‘l‘or‘_. - .i_s _a !nj_x_ﬂ.lrﬁ—-o' W \/ /CL 3 Q\Y\.V"‘D VN Cb s c
When green 1S incident on a yellow shirt, it reflects g;egn\’ » - _\//
and hence appe?reen. e X L ;)uxo-
b = __——‘vl/ = _5—0- | o
() L = peea 320 = £
_ R~y =
= OJ/% seconds ‘ e & .
-a= | _
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speed 320 —_———r-ﬁ______#
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= 9)25 secoggc” == & f
Time interval = ‘ S
interval = t; — t, =0.156 = 0.125 ©
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Because it darkens photographic plates.
From the graph (ar the back) v

t‘/z =11 days

a)
b)

¢)
d) Dangers:
- Destroys body cells,

Causes cancer

Causes mutations
- Destroys reproductive cells,
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i e
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Item 3

(a)

- Satellites help in communication by transmitting signals for 7
TVs, radios, internet and phone services.

- They are used in navigation such as CTPs, for Aero planes,
shops etc.

- They are used in military
and communication
- Used in search and rescue missions.

operations like for surveillance

St W & ey meq

(b) A natural satelljte js any celestial
around a large body for example
- Moon orbiting a planet. .
- Planet orbiting a star. '
An artificial satellite s a human buil
an orbit using a rockg\t./

\b}>d§1 in space that orbits

Ject launched into

Examples

International space station (ISS) orbiting the earth.
- Hubble space telescope orbiting the earth.

- Our own pearl Africa SAT-1 orbiting the earth.

(c) Season changes are caused by the tilled n‘a{re of the earth
on its axis as it revolye

round the sun,
This causes different regions to receive different amoupts of
solar energy-which results into climatic and weather
changes, -

When the northern hemisphereTilts towards the sun, it

experiences summer while the southern hemisphere
€xperiences winter,
As the southern hemisphere also
experiences summer and th
€Xperiences winter,
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Its towards the sun, it
orthern hemisphere
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The mineral should be stored in lead boxes. «/;M,ctw" '
It should also be Kept in reinforeed concrete romV-lo @,Mz
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) Metals feel cold in the mogning and hot in the

because they are good gghductors of heat,

In the morning metals absorb heat l‘mm the hands of the 0l

workers making them to feel cold.

In the afternoon metals gbsorb heat nnd.,unnslml_ll to the

hands of the workers henee feel hot, 7
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The efifzfﬁpphed to the system through a string is multiplied
es

Loa

P Bl

>

in the pulley system hence lifting the load. 9
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c¢) Efficiency =T X 100% /

80 =%fix100 v

80 =25MA

MA =32 v

ma -2

3.2 _ado
*

E  =1875N/
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& Work done —X
I: gain = mgh '
=ox10x 15
=900 ]

Heat =M
=0ox400x0

000 = 24000

\

0 =0.375°%C

Henee the string was not suitable for the purpose because the
temperature change is less than 28°C,

e) By oiling / greasing L My b carredt
Use of ball bearings
Reducing weights of pulleys of strings.

Item § TR’ -i= =
] 6= 2
(@) Sound travels faster in solids than in air.this is due to ®
particles in solids which are closelyuaaf:ked than those in '
air. The student who put his ears near the railwg)Vﬁ?le was
able to hear its sound before the rest could hear it.
Increase of the velocity of a fluid reduces its pressure. \/ NC 2 Y

O
)

(Bemoulli’s effect) o s =
As the train passes-by the air between the studeﬂr;tynd the P
train is at a higl/s;eed and hence at low pressure?

The air behind the students is at low speed hence at hi\g/h/

pressure.
The pressure differquz/f)etween the students and the train

pushes the students towards the trai@ﬁ'ﬁ

) =
(b) When water is heatéd it becomes less dense and flows  ¢x FW"" E:‘Q
. ) e bonnds
upwards against gravity. L ‘W

(c) Hog=hdg .~ %;//
Hx 1.3x10= 25 13,600x10

Hx 13=0.02x 13,600 x 10

2,720

H = =5

H - = M\V
(;AMJ\/"W t/
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[ is ransmitted at high voltage 1o reduce power 134

[ransmisston at high voltage leads low current. v~

The low current re i

e N & ~ 0 s . " il
the urrer du%u the heating effect hence reducing
energy loss inform of heat.
ga v A a . 2 \ E
Fhick aluminum wires have low resistance and high '
conductivity hence reducing encrgy loss in the power loss

hy
rocess.

|

b) The device is a step-down transformer. ¢ -
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The Ac connected in the prim%l causes a chan&'ng/
oY

magnetic field in the secondary coil.

A changing current { duced in the secondary coil by the
mutual induction which flows through th lorg« -
-&4-“& tv\a.‘_.L g f“t éi—.;%c??—\li 4’“‘5 o ‘°W d{‘w ked ]
Far a step-down transforme¥, the number of turns in the
secondary coil is less those in the primary coil. Therefore,
voltage across the load is less than that applied by the

source.

o2
¢) Learners are told to put on rubber shoes and gloves so that in

case of an accjdental contact with live wires, the risk of electric
shock is «mfinimized since rubber is a poor cop}uﬁgf of

electricity.

Item 7
a) Soft magnetic materjals easily acquire and easily lose their

magnetism. Exaiyle

v

Hard magnetic materials don’t easily acquired and don’t easill)/
lose their magnetism. £x, B

Examples of soft magnetic materials are: soft iron, soft nickel,

N C

\{— e T \Prl C!‘:\‘

soft coball.
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Hard magnetic materials steel, Al-Nickel.
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The specimens are connected as shown above.

The switch 1s clos‘%f a short time and OW

The amount of iron fillings aqtt&ote‘d by the specimen and the
amount lost ia a short time aftér opening the switch is noted.

Conclusion:

The material which g?wn;m)re iron fillings and loses lqye/

of them easily is a so gnetic material.

¢) 2.5 Kw and 240V op the heater means that when the heater

is connected to 240V supply, it converts %}X)’J in every
second to heat energy.

d) v’

Heater E =

Qxf
2.5}2}(7 35 KwH \/

3 lamps

\/rok*x3x8x7 2.52 KwH v
Flat Iron /

30
I.2x25x2— 1.2 KwH

Tofal
= 12+2.52+35
= 38.72KwH (units) \/

Cost =38.72 x 800 5‘”— 30,976/= /

GCMC/[U/HW\,
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